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UK public sector net debt

UK government spending on virus |<»
measures pushes debt to £2 trillion | o

£1,500bn ~

UK government debt has risen above £2 trillion for the ~
first time amid heavy spending to support the economy
during the coronavirus pandemic.

Last year, the debt stood at one trillion, seven hundred o
and seventy six billion, four hundred million pounds.

£1,000bn
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World's hottest ever temperature

recorded this weekend

The hottest temperature
ever recorded on Earth was
hit on Sunday after Death

WEATHER

Valley in California sweltered in 130 Fahrenheit.
To change Fahrenheit into Celsius we use the

following formula;
5(F — 32
G

Can you change
130 Fahrenheit
into Celsius?

Round your answer
to 1 decimal place.

This year, it has rose by two hundred and twenty seven
billion, six hundred million. What is the UK government debt now? Give your answer in WORDS.

Rangers new boy victim of spelling gaffe

Effective literacy skills are essential in any job, especially in kit
manufacturing. Rangers' new kit suppliers have shown us why we
should always check our working thoroughly before handing it in!

Saturday should
have been a great
day for Rangers’
new sighing

after he opened
the scoring against
Kilmarnock.

But the striker might not be too happy with the fop he
scored in, given his name was spelt wrong on the back!

Using the substitution

1=a,2=b,3=c¢c,4=d,5=¢e,..26=2z

can you work out what name should have been printed on
the back of this football jersey?

Who Wants To Be A

Millionaire?

'Best ever' contestant to win top
prize for first time in 14 years

Viewers will see the currently unnamed
contestant, who has already been filmed
answering all 15 questions correctly, become
the ITV quiz series’ sixth champion next month.
This gives us a wonderful excuse to reminisce
about the time this poor man (and the audiencel)
incorrectly answered the question below fo cost

him $15 000!
ENTERTAINMENT

Which of these square numbers also happens to be

the sum of two smaller square numbers?

Can you explain which answer is

correct?




